EXAM FM QUESTIONS OF THE WEEK

S. Broverman, 2007

Week of Augqust 6/07

Find the present value at time O of the following sequence of annual payments at annual effective
rate of interest 8% (payments increase by 2 per year up to time 10 and then increase by 1 per

year until time 20).

Time 0 1 2 e 9 10 11
Pmt. 2 4 18 20 21

A) Lessthan 125 B) At least 125 but less than 135
D) At least 145 but less than 155 E) At least 155

The solution can be found below.

12 13 e 19 20
22 23 29 30

C) At least 135 but less than 145



Week of August 6/07 - Solution

The present value at time 0 of the first 10 paymentsis 2(Ia)q) os -

The present value at time 0 of the final 10 paymentsis v'°[(1a) 5 g5 + 20a15 ps] -

G 1010
tg).08 — 10V

(Ta)mg.0s = 25— = 32.6869 and apg s = 6.7101 and v'0 = 4632 .

Thetotal present valueis
2(32.6869) + [(.4632)(32.6869 + 20(6.7101)] = 142.68 .



